Fitting instructions

Make: Land Rover
Freelander; 2006->
Type: 4248

N Montagehandleiding

G Fittinginstructions

b Montageanleitung

F Instructions de montage

s Monteringsanvisningar

ok Montagevejledning

E Instrucciones de montaje
I Istruzioni peril montaggio
L Instrukcja montazu

st Asennusohjeet

a  Pokyny k montazi

H  Szerelési Gtmutatd

Rus PYKOBOZCTBO AJ19 MOHTaXa

BR.NK Your perfect Fit
[ | brink.eu



424817
4248/3

=
>
~

M6x20 (10.9) |

| M10x35 (10.9)

| M14x90+CP (10.9)

© 424870MN/20-02-2014/1




(2x) M6x20 (10.9)

(6x) M10x35 (10.9)

(2x) M12x90 (10.9)

g (2x) M14x90+CP (10.9)

S (2x) M6
& (4x) M10

i@

S (@0 12

© 424870MN/20-02-2014/2




Couplingsclass: A50-X

ﬁ ®
Approved D-Val ue : 11 ,0 kN
HEI [oprovea \
ECE R55 E11 55R 015807
10.9 DN
S 10

© 424870MN/20-02-2014/3




Okm 1000km

NOTE:

* Should this installation process entail the cutting of the bumper -
conformation MUST be obtained by the installation engineer of
the customer’s acceptance prior to completion. Brink International
do not accept responsibility for any matters arising as a result of
this miscommunication.

HINWEISE:

* Die fiir das Fahrzeug zugelassene Anhangelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf3 die hochst-
zuléssige Anhangelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hieriiber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemaf StVZO anbringen.

© 424870MN/20-02-2014/4






© 424870MN/20-02-2014/6






7//\/%/ V%

@7{//\\”&@\\/ P
(ESNY,

e S=A




© 424870MN/20-02-2014/9



© 424870MN/20-02-2014/10







“{000@7{/ .
' L \gjzsz

-~

© 424870MN/20-02-2014/12



© 424870MN/20-02-2014/13



© 424870MN/20-02-2014/14



130

33

6.

8—»

Lower edge of bumper (under vehicle)

Place on outs

de, centre of bumber.






